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Bridge

   Famous Hand
 The margin between victory and defeat in a

given hand is often razor-thin.
For example, take this deal played in the 1983

Vanderbilt Team Championship.
When Norman Kay and Edgar Kaplan held

the North-South cards, they wound up in five
hearts doubled on the sequence shown, and
West led the queen of spades, ruffed by declarer.

Kaplan played a low diamond to the jack,
won by East with the queen.

East returned a trump to South’s ace, and
another diamond was won by East’s eight. Back
came a second trump to the king, and Kaplan
ruffed the diamond seven with dummy’s last
trump. Next came a spade ruff followed by two
more trumps, producing this position:

North
[S] J
[C] A Q 7
West
[S] A
[C] K 10 5
East
[D] A
[C] J 8 6
South
[H] 9
[D] 10
[C] 9 2
Declarer now played his last trump, forcing

West to part with a club. After Kaplan discarded
dummy’s jack of spades, East, who could not
spare his diamond, also parted with a club.
Declarer then led a club to the queen and took
the last three tricks with the Q-A-7 to make the
contract.

Of course, all the cards had to be perfectly
placed and the timing also had to be precisely
right for the double squeeze to succeed. But co-
incidences like this seem to occur quite often
when there’s a good helmsman at the wheel.

      Tomorrow: A switch in time saves nine.
           (c)2006 King Features Syndicate Inc.
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This is a logic-based
number placement puz-
zle. The goal is to enter
a number, 1-9, in each
cell in which each row,
column and 3x3 region
must contain only one
instance of each nu-
meral. The solution to
today’s Sudoku puzzle
is right.

3

8

2

 

9
8

3
7

 

6

3
4

5
 

5
3

9

 

7

6

4

9

2
 

5

6
1

 

5

7
1

8
 

8
7

5
1

 

2

9

4

 

20
06

 C
on

ce
pt

is 
Pu

zz
les

, D
ist

. b
y 

Ki
ng

 F
ea

tu
re

s S
yn

di
ca

te,
 In

c.

Conceptis Sudoku by Dave Green

Difficulty Level 11/27
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